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NSTRUCTIONS
· Write your name, admission number and date in the spaces provided.
· This paper contains Sections I and II.
· Answer all the questions in section I and any five in Section II.
· All answers and working must be written on the question paper in the spaces provided below each question.
· Show all steps in your calculations/ working, giving your answers at each stage.
· Marks may be given for correct working.  	
· Non- programmable silent calculators KNEC mathematical tables and geometric set may be used except where stated otherwise.
· This paper consists 16 printed papers
· Candidates should check the question paper to ascertain that all the papers are printed as indicated and that no questions are missing.


SECTION I (50 MARKS)

1.	Simplify : 									(3mks)






2.	Without using mathematical tables or a calculator, evaluate

												(2mks)







3.	The region R in the figure below is defined by three inequalities, l1, l2 and l3.
[bookmark: _GoBack][image: ]L3
L2
L1


	Find the three inequalities									(3mks)









4.	Otieno,Karanja and Shiundu are three casual workers in a tea factory.Karanja earns twice as much as Otieno and Shiundu  earns sh 70 more than Karanja.
	If their total earning is sh1120, express the ratio of their earnings,Otieno:Karanja:Shiundu in its simplest  form											(3mks)







5.	A map is drawn to a scale of 1:50,000. Find the area in cm2 on the map of a field with an actual area of 60,000m2.										(2mks)



6.       Evaluate the expression below by rationalizing the denominator. Leave your answer in the simplest form.                                    (4mks)


	  








7.	Two similar solids have surface areas of 48cm2 and 108cm2 respectively. Find the volume of the smaller solid if the bigger one has a volume of 162cm3.					(3mks)




8.     At 90km/h, a car takes 2 hours to cover a distance A to B. How long would it take to cover   the same distance if the car was travelling at 120km/h?                        (2mks)                          



9.	Mariga on arrival to Kenya to play for the country against Sychelles converted 6000 Euros 	into Kenya shillings. During his three day’s stay he spent Ksh. 260,000.He converted the remaining amount into US dollars. How many   US dollars did he get? 
	(Use the exchange rate below)
				Buying		Selling
	1 US dollar $		96.20		96.90
	1 Euro C		112.32		112.83					( 3mks)








10.	A right angled isosceles triangle has area of 4 square units. Find he perimeter of the
	triangle leaving your answer in surd form. 						(3 marks)









11.	Find the area in hectors if a field book measurement is recorded in metres as follows. (4mks)

					D
					170
			To E 50	140
					 110	60 to C
			To F 80	100
					  30	50 to B
					 A










12.	The diagram below represents a circular flower bed surrounded by a path of uniform width 	given that R = 14m and r = 12.6m, Calculate to the nearest whole number the area of the path 


	Take = 										( 3mks)
[image: ]




13.	 Use tables of reciprocal only to work out                                                                       (3mks)

	





14.	The total marks scored in a test by 6 pupils was 420. If the mean mark for the first 5 pupils was 68 find the marks scored by the sixth pupil.						(2 marks)



15.	Solve the following simultaneous equations using the substitution method.			(3 marks)
	4a+3b=120
	2a+5b=130


16.	Using a  set square, a ruler and a pair of compasses, divide the given line into five equal parts
												(3 marks)






[image: ]
17.	The figure below is a velocity –time graph for a car
		
[image: ]
	(a)	Find the total distance traveled by the car?						(2mks)









	(b)	Calculate the deceleration of the car.							(2mks)














SECTION II  50marks


18.	(a)	Fill the table below of the function y=2x2+6x-5, for -4x3			(4mks)
		
	x
	-4
	-3
	-2
	-1
	0
	1
	2
	3

	y
	
	
	
	
	
	
	
	







	(b)	(i)	Draw the curve of y=2x2+6x-5, for -4x3.	 for -4	x3 on grid given	(3mks)
				




		(ii)	On the same axes, draw line y=7x+1                                                                      (2mks)





(c)	Determine the values of x at the points of intersection of the curve y=2x2+6x-5 and line y=7x+1										(1mk)



19.	The diagram below shows two cicles, centre A and B with intersect at points P and Q .
	Angle PAQ =700, angle PBQ =400 and PA=AQ=8cm
[image: ]
	Use the diagram to calculate
	(a)	PQ to 			2dec places							(2mks)





	(b)	PB to			2 dec places							(2mks)






	(c)	Area of minor segment circle center 	A						(2mks)







	(d)	Area of shaded region									(4mks)













20.a) Without using a protractor, construct a triangle ABC in which AB = 4cm BC = 6.5cm and
 angle ABC = 1050 Measure AC					( 5mks)






















b) Draw the perpendicular bisector of lines AC and BC to meet at O. With O as centre, draw a circle through A,B and C. Measure the radius of the circle.			( 5mks)





21.       The diagram below represents a solid consisting of a hemispherical bottom and a conical 	frustum at the top.
[image: ]


a)	Determine the value of x and hence the height of the cone.			( 2mks)




	b)	Calculate (i) the surface of the solid.						(4mks)













		ii)	The volume of the solid.						( 4mks)












22.	The figure below shows a circle centre O. PQRS is a cyclic quadrilateral and QOS is a straight line.
[image: ]
	Giving reasons for your answers, find the value of:
	a)	<PRS										(2 marks)


	b)	<POQ										(2 marks)


	c)	<RPS										(2 marks)
	

d)	<PSR										(2 marks)


	e)	Reflex <POS									(2 marks)




23.	A matatu left town A at 7.00 a.m and travelled towards a town B at an average speed of 60km/h. 	
A second matatu left town B at 8.00 a.m and travelled towards town A at an average 60 km/h. If the distance between the two towns is 400 km, find:
a)	The time at which the two matatus met.					(5 marks)






b)	The distance of the meeting point from town A.				(5 marks)


















24.      The table below shows the names of 200 persons measured to the nearest kg
	Mass
(kg)
	40-49
	50-59
	60-69
	70-79
	80-89
	90-99
	100-109

	No. of persons
	9
	27
	70
	50
	26
	12
	6



(a)	Calculate the mean mass								(5mks)














(b)	Calculate the median mass								(5mks)
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